"X 11"7 '0I0 2,25 M0 .7"'02

If it is so, it should also be permitted initially - 51 79mno% %577 9K

OVERVIEW

The X713 interprets a statement of 1371 ' to mean that if two 07V contradict
each other concerning the death of the husband, the woman should not
remarry initially, however if she remarried she may remain married. The
X713 explained this, based on the ruling of 71w who maintains that whenever
an X"V is believed' he possesses the status reserved for two o7y, and
therefore he cannot be contradicted by one 7¥. The X723 asks that based on
the ruling of X719, the woman should be permitted to remarry initially, for
the 7°nn7 7Y cannot be contradicted. The X3 answers that we do not allow
her to remarry, in order to prevent gossip and slander (since there is a
witness who denies the husband’s death) as *0X 27 declared. This moon will
discuss to what extent is the rule of X7 applicable.

MooIN anticipates a question:
= (ow) 3,17 91 Mmuay) DIYY NYNNA 99T NN

And from that which we learnt in a 732» in 2992 7287 PO, that if -
= NDWWD MYPND NI RYIN KXY 1T 290 N0 XD 99N TN 19 NN 99N THN 1Y

One witness claimed the husband died and one 7¥ claimed he did not die,

the rule is she should not remarry; we cannot challenge X from this
mwn.? (Seemingly that 7wn does not accord the 7°nni 7v the believability of two 07y, for
it prohibits the woman to remarry)’ —

n90IN answers:
- SRYN N0 OX IPON) HNN N33 19N ONNYT

For there in that 71w» it is discussing a case where the two witnesses

" An X"y is believed (132172) to testify that the husband died and the woman is allowed to remarry based on
this testimony.

* The contradiction from the 71w» to X7 poses a greater difficulty than the (apparent) disagreement
between X2 and 131 "1 (who are both 2°&7R). Why did not the jwpn pose this question (also)?!

? Moo question is based on the assumption of the 1wpn, that according to X2, the widow is permitted
21N> to remarry. We cannot therefore answer that the 7w» in N1 is JOW only 751037, See following
own a7 MooIn.

* 3" never had the opportunity of accepting the testimony of the "naa v and rule accordingly, since the
10 7Y contradicted him (immediately). See footnote # 11.

5> mpoin answers that the 1wpn could not have asked from the 71wn (in addition to asking from 7171 "),
because the 7wpn knew that the m1wn could be discussing a case of X"22 where the rule of X7 does not
apply. It follows therefore that even if she married she must leave, since she is a X"X p20. See 7"w 0"n.
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testified simultaneously, therefore the 7°n77 7v is not believed ; and in such

a case even if she remarried after their testimony she must leave the second

husband -
= 199951 D1 N TN 7Y XaYa Nt 9NN NTa 299N X9

And x>y is discussing a case where the witnesses came one after the
other; when the first ¥ came and testified that the husband died, 7"°2

permitted her to remarry -
— N85 ND XYY ON HN XY 99N 9NN N2 79 NN

And after this permission was granted, another witness came and claimed
the husband did not die; in such a case if she remarried she is not required

to leave her second husband. 7"2 has already established her widowhood status and she
may remain married. In fact she should really be permitted to marry initially, even after
the second 7¥ testified (since 2°1w 2Pn2 IR 2w 127 PR) -

= PY0975 YON 297 DIVN XYIN KXY NINNIY YaN

However on account of s'oR 21 statement, she may not initially remarry,

as the X713 will shortly conclude. The ruling of X7 is only if the two 7y came
1"X73, and not if the two 2°7¥ came X"22.

mooIn seeks to prove his point that there is a difference whether the two opposing 2°7v
come simultaneously or consecutively:
= AT 9NN N1 P2 NNN NI )2 PITIN YIY NINNYD YW DNNT RYIM)

And we can prove from the Xw 1 of the miwn in 2w nwRa P9, cited
previously, that there is a difference between the two 0’7y testifying

simultaneously, and one (701&:7) X"V testifying after a previous (1°nn7) X"V -
= NS5 XD 11 XY 998 9NN X2 N0 HN 9MIN TON 1Y 2NPT

For the mwn teaches there, if one 7Y claims the husband died, and the
woman remarried (based on his testimony), and another 7V came and
testified that the husband did not die, the rule is that the widow is not

required to leave her new husband. This concludes the citing of the mwn.
= 1D XYY 29 DY AN NWIY MI99NN NON WNN NO NDT NI W91

And the x923 there explains that when the mwn states that if she remarries
she is not required to leave, it does not mean that she actually remarried,
but rather the term nNo°1 means they permitted her to remarry (based on
the testimony of the first X"¥ who claimed the husband died), even though
she did not actually remarry the rule is still X¥n X —
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The X n3 there explains itself that even though she is not currently married, the meaning
of -
= YN NN 13990 N8N XD

N3N NY is that she does not leave (or lose) her initial permissibility status.

She may still remarry even if the M7 79 comes before she remarries.”
= 1 RY 9K 1¥N AW 01D 711NN RPNT ¥yavun

It is apparent from that X723 that she is permitted to remarry only if they
permitted her to remarry before the second 7y came and claimed the
husband is not dead -

- XY MPNIY DNP XA NN
However if the second 707 7v came before she was permitted to remarry,
then once the second 7v comes, she will not be permitted to remarry.’ It is evident

from that X7n3 that there is a difference between 77 91X 77 where she may remarry (even
initially, were it not for *oX 27) and NnX N22 where she cannot remau"lry.8

mooIn has a question:
— 1939 D92 RDIY 29INT YNIWNT (:x5 97 70ro) NIPPY 13 P93 119 P98

And there is a need for deliberation in Xpw % p=p, where it is indicated

that X»w applies his rule in any manner -
= DY HNN N2 °2 HNN Haa )’a
Whether the 0°7v came simultaneously or consecutively; in all cases the rule
of X7 applies that 2°1w Q1PN TR KW 1°727 PRI D°IW IR I 77N A1PARIY DPR 92, MOOIN
explains his question:
= TAMY NHYA NRNPOI XY MIN TN 13 NNNVI IN THN 1Y 0NN NnH4e
For the mwn there teaches, that if one 7¥ claims that the suspected 70

defiled herself, and the other 7v testifies that she did not defile herself,

®See (however) footnote # 8 (Alternately).

" The mwn states 'R¥N X2 M XY 99K R K2 DO 1A IR TAR 7V, the second 7¥ came after the no°11, which
we interpret to mean Xw? m7°na. It is only in such a case that WX 77°nan XN X?; but not if the second
7¥ came before the &w% mana.

% It would seem at this point that there is a difference between the ruling of 137 '3 (according to Xw) and
the ruling of the m1wn in the case of 17 IR 712, According to 731”7 she may remain married; but not marry
initially on account of *oX 17. However according to the m1wn ruling (there is no concern of "oX 27 and) she
may remarry initially. The difference (according to 717 1) between 77 91X 712 and nnX n23, would be if she
remarried; if it is 77 MR 772 she may remain remarried, however if it was nfiX N33 then she must be Xx¥n.
Alternately, one may interpret WX X1°Nn R¥N K7 to mean that if she married (72v°72) she is not required
to be xxn. The 7wn and 717 " would then be in agreement. See 1170 MR 2°¥177 M1dWnH. See following
own a7 MooIn.

% If it is known that the 7700 was Xl (she was 7am while an w*X nwx), there is no process of drinking the
081 0%, She becomes "1 231291 %¥2% 71710K.
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the 7010 would drink the o wnm oon.
— 5915 59593 531 NI PANI AN 1 WINIM XY AN WINIM INDT NAYV NI P91

And the X923 infers from this 7wn, the reason the 7010 drinks is because
that this other 7v who claims nXnvi X7 is contradicting the 7v who claims
nR»L1 (so there is still a P90); however if there is no contradiction, the one
7¥ who claims n&»wvl would be believed and the woman would not drink the
°1R77 2 [and would become 121 7%7va% 7710K]. The X2 there continues
and asks; from where do we derive this, etc. The x 3 there explains the source
for this ]’7.10
= 119D YINDN K81 2951 TN JINI TAN 1Y RNIIINTNT 1923 72999
And then the X 1) there asks, since Xns"1IR7» the one 7V is believed, then
how can the other 7v who claims nXnv1 X? contradict him -
- 5919 NPNRNRAY DIPN Y3 K9Y 9IND)
For X% ruled that wherever the 7710 believed, etc. an "y he is XY 07w

D°W D12 TR 9w 127! The Ra) there answers -
= MY NN 9N NN 229 AMY NN KD 23N NDIY 99N NON

Rather X9 says that the maw» should read ‘she does not drink (even) if
there 1s a 7R 7v2 7Wwnon, because the T0IRT TV 1s XRN»MXTA 7281, However 29
X1 says that the 71wn reads ‘she does drink’. The x7n3 there continues to ask -
= 1T ANN N2 JND NNN N3 NI NOYP KDY RNYT NOWH NN 229D
According to n''9 that the 71wn reads MW an°7 this is difficult to reconcile
with the rule of X?W (that 21 7°»R7W 212 23). The X nx answers, there is
no difficulty; here by the case of 70 both 27V came simultaneously
(therefore the 10187 7¥ was never accepted) and here (where X7W says 1K
D1 IR HW 1°727) it is in a case where the two 07V came consecutively. This
concludes the citing from 700 NJon.
- NP 929 23WNTI WN KXY 19NY T8 799 NNN N2 299N 133 NPT ¥1awn
This indicates that X% is also discussing a case of simultaneity, and
therefore it is necessary to correct the reading of the mwn from 7N 70N

to 7mw 707 X2 and he did not answer as 1'% answered (that there is a
difference between 1 2nX 112 and &"2). For if X7 is discussing only a case of 11 2nx 112
why was it necessary for X7 to change the X07°) from 7MW 707 to AW an° X?? The
X071 could be 7MW 071 and the explanation would be because it is X"22. This proves that
according to X?W even X" the 7¥ is 2°3w> MR1. This contradicts what msoIn maintained
previously that ([even] according to X?1) there is a difference between 1"&12 and X'"22.

"1t is derived from the P09 in (7 [Xw1] 72772) L0 MWD where it is written AwWHNI XY XM 72 1K 791,
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mooin offers a possible answer:
— DT 9NN N2 NIN 929 NI XDIYT 9129125 NN 119199

However it is possible to maintain that X' is only discussing 1''Xr2; and

in a case of X'"22 he does not rule that the 7v 1s D°w> -
— NN NA3 NIYND PNRYNY PNTIY INNIY NN

However it appeared to him difficult to establish the mwn» in a situation
of R"2 (as "1 did) -
- Hr AnN 12 59917 Y ynunT own

For it seemed to X7 that the 71wn is discussing a situation of 3''872 (where
an X"V is 0°1w> 1MR1), therefore he had to change the X0o7°3 to MW N7 X7,

moon offers an alternate answer:
=y 592 NIV 999N 19IaNT PNYY 13229 9N T

in addition, the >'"7 answers that even if according to X this rule

applies in all cases even X"3, that X7 will maintain that even in a X"2 situation the
X"y has a MR of D1 -
- 13 PN 191 ONN DY RPOITH NOIDA PSNN TNN 1Y RNMNNTIT 0NN S50 N

This would be applicable only there by 70, for by a nwvo, an R"Y is

believed Xn»=R7% as the X771 derives it there from the 2105 of 112 198 7Y -
= 1T NN N2 NIN D2V 25WUN KDY 1929710 RON 1199019 XYY NYN 23) XoN YaN

However here by 7wR N7y where the 7V is not believed Xn»X7» to testify
that the husband died; he is believed only 12397%, in this case the X"V is not

considered as two 2°7v, except in cases of 1''N72, where initially his testimony
was not as yet challenged, when it was accepted and ruled upon.'

mMooIN anticipates a question:
= 13399 XNIINT P2 71PN YT 2) DY 4N

And even though there is a difference between a Xns"1R7% MRl (where
the rule applies even X'"22) and a 333977 N1INX1 (that [even if there is a rule] it

" The mawn there states the case of NX»LI XY AWK XK"Y NXPLI IR X" together with the case of X X"y
TN AN DRADI R? 2R "2 NRAI. Assuming that X919 is only 1"X73, we must say that the case of 02K ')
nRnL1 XY is 1"812 for if it is X"23, then even if one 7 says NXnw1 X2 she would be 7mw. We therefore assume
that the case of X"¥1 "1 X"y, which is brought together with the case of "1 o™ nRy '21, is also 1"Xra. This
differentiates between the 71w in 70 which Moo assumes (according to X?1) that it is 1"X13, as opposed
the 72w in N2’ regarding which MaoIn stated previously (footnote # 4) that it is X"22. See also 7" w 0"7nn
(2wn 7"8%2 7"7) and 1IN MR 2T MDY,
12 X959 states 121 X"V 7190 7RAW 219n 92. This implies that the rule of X919 is where the NN is KN™NNTA.
" See “Thinking it over’.
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applies only 1"X12); so how can the X723 here ask that there is the rule of X7, when the
rule of X9 was stated by a RN*MRTA N1IAKRI —

mooIn answers that nevertheless, the X0 —
$NHNNTA HNN N2 195 132972 AT 9NN N2 DY BPYNT 1Y ANIIT NI 1510

Cites the ruling of 8%, for it seems to the 7wp» that an X"y should be
considered as two 2’7V (even) in a 3339% nNunKi, (at least) if it a 3''N12
situation, just as the X"V is considered like two in a Xn¥IRT N1IMX1 (even) in

a R''2 situation. The wpn is of the opinion that a 133772 MIaR1 by a T"X12 situation
should be as strong as a Xn™71X772 MIAK1 by a X"2 situation.

SUMMARY

The rule of X7 that 131 22w X2 71 TR 7Y "1 Dpn 22 applies (only) when
the 077v¥ came 77 InX 712. Concerning where an X"V is X711 12X3, there are
two opinions whether this N11KR1 applies even by X"22 or not.

THINKING IT OVER
How do we explain that if it is a Xn»XT MR then it 1s effective even
X"23; however if it is only a 11277 M1 then it is effective only "xra?'*

14 See footnote # 13. See T>w nx 2.
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